g PRI s s . .
M ‘_cf;’ti » Writing a linear equation

Writing linear equations

Write the slope-inter cept form of the equation of each line given the slope and y-inter cept.

1) Slope:% y-intercept = -4 2) Slope=—§, y-intercept = -2
3 . 5 .

3) Slope:g, y-intercept =0 4) S|ope=§, y-intercept =5

5) Slope=-1, y-intercept=1 6) Slope=1, y-intercept=5
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7) Slope=4, y-intercept =3 '
) Slope=4, y-intercep 8 Slope=§, y-intercept = 4

10) Slope=-1, y-intercept=3

2 .
9) Slopezg, y-intercept = -1

3 1
11) Slope= rs y-intercept = -2 12) Slope= > y-intercept = 1

7
13) Slope= T y-intercept = 4 14) Slope= g y-intercept = -5
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16 S| = 5, -int t=0
15) Slope = —g, y-intercept = -3 ) Slope y-intercep

4 S
17) Slope:—g, y-intercept = -1 18) S|ope:Z, y-intercept = 2
7 . 1 ,
19) Slope:E, y-intercept =5 20) Slope=z, y-intercept = -2
1 _ 7 .
21) Slope= _E' y-intercept = -3 22) Slope= — y-intercept = 4
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23) Slope=-2, y-int t=3 2 i
) Slope y-intercep 24) Slope=—g, y-intercept = 0

25) Slope=-1, y-intercept=-1 i
) Slope y-intercep 26) S|ope=—%, y-intercept = 2

27) Slope=1, y-intercept=1 28) Slope=8, y-intercept=3

1 9
29) Slope= n y-intercept = 2 30) Slope= = y-intercept = 4
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3
1) y:gx—4
5 y=-x+1
2
9) y:gx—l
7
13) y:—zx+4
4
17) y:—gx—l
1
21) y:—gx—3

25) y=-x-1

29) y:%x+2
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Answers to Writing linear equations

3
2) y=——x-2
)y5
6) y=x+5

10) y=-x+3

5
14) y=§x—5
5
18) y=zx+2
7
22) y=—§x+4
1
26) yz—gx+2

9
30) y=—x+4
)y5

3
3 =—X
)y5
7) y=4x+3
3
11 =——X-2
)Y 5
8
15 =——Xx-3
) Y 3

7
19) y=—x+5
)y2
23) y=-2x+3

27) y=x+1

5
4) y=—X+5
)Y >
3
8) y=—x+4
) Y c
1
12) y==x+1
) Y 5
16) y=>5x
1
20) y=—x-2
) Y 5

2
24) y=-—x
)y5
28) y=8x+3





